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9.5 Parametric Equations

*Watch video on Khan Academy

http://www.khanacademy.org/math/trigonometry/parametric_equations/parametric/v/parametric-equations-1

Plane Curves and Parametric Equations:

Plane curve is the set of ordered pairs (x, y) where
x = f(t), y = g(t) for tin interval I.

The variable t is called a parameter, and the

equations x = f(t) and y = g(t) are called parametric

equations for the curve.
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1) Graph the plane curve defined by the

parametric equations:

x=t*—-1, y=3t -2<t<2
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2) Sketch the plane curve represented by the

parametric equations x = v/t and y = 2t — 1 by
i eliminating the parameter. , !
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~ Find the set of parametric equations for the

parabola: X=4 3 z £ley B lis Hhe Blonvaia
4)y=9—x2 L for £

Let x=¢€ %CMJ{M&

v = G B SN substifutioy For x

' : o5 Mmust be a \Cu,vta['ioyz +qu1/
{i:é : Y:?E allows X }o +a ke on al/
*he \/ﬂll/fé T the cfo.vzq,‘,?'

oL e 7[\/\6;/1 (\ec-fcwzju/q/‘
szua}(‘ém




